
Subtracting decimals (hot)

1. 7.3 - 6.79 = 0.51 2. 8.45 - 7.8 = 0.65
3. 5.24 - 3.7 = 1.54 4. 9.4 - 5.78 = 3.62
5. 8.7 - 6.45 = 2.25 6. 7.5 - 5.29 = 2.21
7. 10.67 - 5.3 = 5.37 8. 12.8 - 9.27 = 3.53

Practice Sheets Answers 

Challenge

Accept any calculations with the correct answer of 3.15, e.g. 8.75 - 5.6 = 3.15

Subtracting decimals (mild)

1. 3.5 - 2.9 = 0.6 2. 5.2 – 3.7 =1.5 3. 9.1 – 5.8 = 3.3
4. 7.2 – 6.85 = 0.35 5. 8.3 – 4.75 = 3.55 6. 9.23 – 7.8 =1.43

Challenge

Accept any calculations with the correct answer of 1.4, e.g. 6.8 - 5.4 = 1.4,
3.1 - 1.7 = 1.4 etc.
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